Year 6 Maths Homework,

Due in Friday 30" Novemher 2018

the denominator the same. Rermmbutcrwnw,rtany improper fraction answers
back into- mixed numhbers.
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so they have the same denominator, and then subtracting the numerators
whilst keeping the denominator the same. Rememhber to conwert any improper
fraction answers back into mixed numbers, and to make any mixed numhbers in
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numerators together and the denominators together. Simplify the answers if you
car. Remember to corwert any mixed numhbers in the question into improper
fractions first, and try to conwert any improper fraction answers hack to- mixed,
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Dividing fractions — divide the following fraction pairs by following ‘Leave Me,
ChungeMe TumMe/Ovvr' Leamtlwfwstfraotlmma&ww change the division
wnlpJQﬂngwa&wnuunphwuanm Sunphfyt}wanswm’sjlfgwm Remember
to convert any mixed numbers in the question into improper fractions first, and
try to conwert any improper fraction answers hack to- mixed numbers.
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